20194F11A2H B X<

STFaTHE RBHRX

HIE || SmE4 R# PN CEPN MmERIE BEP 1R ER
59| 685|=H ZEA |/NAKER S |V w79t T 21.71 2171 | BE |BA®
2| 33| 693(@EFt F=F |TAb+ S |V w79t T 22.02 2202 | BE |B&
3| 8| 682|%H & BERGOTN) | & |V ehIvEn T 23.08 2308 | BX |BAFE
4| 75| 684|=H =E£ffi |FT=F 2 |V evh7vtnTI7 23.23 2323 | BX |BEFE
5| 13| 609|fIH fiE [CCH 2 |3ZFaTE VY- 23.45 2345 | BE |Bi&w
6| 38| 673|TB HKF |EE(*F) L [prybaohy-7 9y 23.80 2380 | BX [®it
| 17] 617|KE #z |A =z Q@ |9ruvaa-%-~vrn-y 2401 2401 | BE |®it
8| 72| 667|RJII EXEF |DAD 2 [V evh79tnT)7 2413 2413 | BE |®it
9] 61| 686|ER #Mz |K> @ |V rvh7v e TYT 24.22 2422 | B |B87E
10| 66| 624(f+f BAEZF |237 2 |V wvh7vtnTI7 25.17 2517 | BE |B8E
1] 49| 687(IULAN EZ |tLT 2 |1ZvIR 25.30 2530 | BE |®it
12| 47| 646|iBO HEFE [\ & |YTIbIub =79y 25.33 2533 | BE [Edt
13| 50| 671|FE # F49) Sl VA == 22.60 2560 | BE |Bi%&
14| 73| ee2|dA A (L A |y y=7h s 26.54 2654 | iR
15| 19| 628(#AK F& [TV & |MMT—FL 26.78 26.78 | BE |[wmn=
16| 24| 681[%% & I={0)) @ |V rvh7v e TYT 27.59 2759 | BX |BEFE
17| 65 605|{R{E:A %1BE |Svvy-2iOY | & [9rhvaa--~vrn-y 27.72 27.72 | R
18| 36| 636[kE EF |[JzH ? |MIUFIRE-TIT 28.26 28.26 | R
19| 53| 683(#E wF  [/\F ? % 30.85 3085 | R
20| 55 649|7T KIE |PaPa3 2 |V evh7vtnTI7 30.89 3089 | R
21| 46| 661|FHF & B 2 |ZvHR 31.40 3140 [ iR
22| 9| 631|EE Ef |OEY @ |V rvh7v e TYT 31.44 3144 [ R
23| 57| 679|E BEE BB.(tE) @ |V rvh7v e TYT 31.92 31.92 | 30
24| 18| 643|mHE BW— |Y&D @ |V rvh7v e TYT 32,53 3253 | 29
25 44| 621| KM F£WH |Latte (7T) 2 |V evh7vtNTI7 3059 3 3359 | 28
26 51| 623|K¥ ¥ |#RH— @ |V rvh v TYT 33.84 3384 | 27
27| 30| 610|#EHE #HF |AIL 2 |MT—FIL 33.86 33.86 | 26
28| 16| 668|R)Il EXEF |KhdH 2 |V evh7vtNTI7 34.66 3466 | 25
29[ 63| 622|KE EETF |EXU7%H) @ |V rvh v TYT 34.96 3496 | 24
30| 39| 606|EME & HiT 2 |V evh7vtNTI7 36.65 36.65 | 23
31| 45 651|A+ #Hth |340— I |ZVIR 37.21 37.21| 22
32| 69| 629| KT F# BT Q [pavbavb -7ty 38.34 38.34 | 21
33| 58| 675|fRR E&@ |FALAK @ |V eIV TIT 38.35 38.35 | BE |wmnm
34| 12| 640|=4E IEF |KEGET) 2 |IZvIR 39.38 39.38 | 20
35 37| 644|FIL EH  |Drvvd @ |V evh7v e TYT 41.08 41.08 | 198
36| 22| 691|FH HFF |FLA A |YTIMIUR =Ty 4122 4122 | 18
37 6| 637|#&MA E£X |<U7 N VA = b 42.58 4258 | 17
38 48| 650|REx HEE |/\BA}WIb) | & |3=Fa7HvIRIUN 4431 44.31 | 16
39| 32| 657|HhIl EF |EFhANA) | @ |rursrreaxanzo 4763 4763 | 15
40| 43| 676|fBR E£&® |HFTF 2 |V v tNTIT 52.42 5242 | 14




20194F11A2H B X<

STFaTHE RBHRX

NEAL| HIE [ €7~  SnES R4 R Rig 24 L MERAUK REaP  |[1ER[ERJR[/5R
411 42| 601|ithE EE |T47 R [E=Fa75v92708 5370 | 3 56.70 | 13
42| 56| 633|/h#h fEtE |EABK(ILI) ? (& 58.10 58.10 | 12
43( 31| 608|¥EM[ MFx |4 2 |V I ENTIT 58.85 58.85 | 11
44| 5| 663|FF FTF |Ta—> A |y y=7h s 59.37 59.37 | 10
45| 21| 603|thE EE |LAF R (327275 99RIUN 59.63 5963 | 9
46| 29| 689|ILE HEF |FE®IN) | * [VvhIvtLT)T 61.76 61.76 | 8
47| 41| 678|HHE biE |E S ES 66.34 66.34 | 7
48 71| 648|411 KiIE  [Q(%a1-) 2 |V vh7vtnTI7 67.98 67.98 | BE [tmnem
49 40| 616|KE f#Hz |EPa @ |puhvar-t-avrn-y 70.11 7011 | BE [FA%E
50| 11| 692|iFiD BAZE |Tv— P |I=FATE VYA 70.86 7086 | 6
51| 67| 602|thEH F#EE |70y R (3=Fa7599RIUN 76.37 7637 5
52| 2| 669|AM WF |Tv¥F—  [Vevh7venT)T 82.83 8283 | 4
53| 68| 672|FEB #KF |[XEGFI) Q Ymhauky-7 Ry 68.49 | 30 98.49 | BX [®Hit
54 25| 688|IUT AETF |Vt 2 |MT—FKIL 113.36 11336 | 3
55( 74| 612|1EK FI E(X)Y) 2 |>—R— a4 L+—1—| 30 B4 Lt —1\—
56 3| 660|HF B |[AQ 2 |V evIFVENTIT | Sa6A—r— B4 LA —13—
57 4| eo4|thE HEE |IL—2 @ |3=FATHVIAIUN | s LA —r3— B4 LA —18—
58| 20| 645|&L BEF |[7/ARo 2 [V vvh39 eI TIT | 1Lt —i— B LA —1\—
59| 27| 615|KAR JETF |[FR(ARE) | & |/ ETV 84 L —r3— B4 LA —18—
60| 28| 670|AM #E |/\vwE— R |V I7vENTYT |81 6d—15— A LA ——
61| 70| 659|/Il #&F |EY= L (43T VANIUN | 21—~ Aq Lt —s3—
62| 26| 680|AH FEHETF |E I |% K& K%
63| 14| 634|/h\tk EE BN I | % 55+ Eo
64| 1| 611|HEAX FHF |Efn(h)Y) 2 |2—R— 544 6 = 2N =7
65| 10| 627|8E KM |BXTMH 2 E=F N1 @i SR
66| 15| 674FR LD [Lewlw 2 [3—o v—7u7| FEBE SR
67 23| 635//\Hk MY |FEA A |V 7 TIT | FEE SR
68 34| 664|{ZHEF K |BBH 2 |V iy TIT | B @@ | B |EdE
69| 35| 642|=E BW— |GIH 2 [V evhIvETIT | FEA SR
70( 52| 653|FEEFD ¥  |ROY(AA) & |MIFIRI-TUT | T SR
71( 54| 658|%JIl F= |Farr(77)) 2 EvOR @B SR
72| 60| 620|KE f#z |[Pa— A |puvar-+-vrn-o | FEiE &
73 64| 614|KAR =F |HE(EFH) Sl VA == SR SR
HERNE S YT UTE (GEIEHE)




